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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Vocab Misc Questions Overview

Vocab Misc Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is
similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Vocab Misc Questions.

Question

In the following questions, a statement is divided into 5 different segments. Part (A) in the sentence is fixed and other parts
may not be in the correct sequence. You have to rearrange the other parts of the sentence to make it contextually and
grammatically correct and if the correct option of the sequence doesn't match any of the given sequence, mark option
5i.e., "None of the above" as your answer. The market breadth is widening and that is very heartening because there are
few sectors that are leading the recovery (A)/ To some extent, polarisation in terms of the market will reduce because
there are more sectors participating. However, within a sector, the strongest balance sheet will attract the most capital and
it will attract the most market share also (B)/ Besides, it has not been a sectoral move, it has more been a leader in a
particular sector which is taking away the majority of the market share (C)/ The other companies are still firing and fighting
for survival (D)/ That was leading to this polarisation (E).

Difficulty : Moderate Average Time: 73 Seconds

Options :
1. ABCED

2. ACEBD
3. ADCBE
4. AECBD

5. None of the Above

Solution

The correct answer is Option 2 i.e. ACEBD.

e Taking the fixed sentence "A" under consideration, part "C" seems to portray conjunction with the first by stating
about the sectoral moves and that it is taking away majority of the market share.

e Sentence "E" will follow "C" as it shows conjunction with the previous one.

e Further, among the remaining parts "B" and "D, "B" seems to precede "D" as part "D" suggests a rational or
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conclusion for the entire passage by stating about the other companies are still fire fighting and fighting for survival
by showing further comparisons with the concern
e So,we got a sequence i.e. ACEBD.

The passage is: The market breadth is widening and that is very heartening because there are few sectors that are
leading the recovery. Besides, it has not been a sectoral move, it has more been a leader in a particular sector
which is taking away majority of the market share. That was leading to this polarisation. To some extent,
polarisation in terms of the market will reduce because there are more sectors participating. However, within a
sector, the strongest balance sheet will attract the most capital and it will attract the most market share also. The
other companies are still firing and fighting for survival.

Hence, the correct answer is Option 2 i.e. ACEBD.
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